F EIREEIZNRTYMR—ILARE F41ELEBERBEXRE PPHRFESR

1

N

w

N

(&)

(=2}

FER29FE HFI=—/NRTYMR—LKE

=3
=

(BFDE)

57
3
42 18
22
55
ry
—
2 26
L #k o
70 30
79 37
=l 28 1 fFa |23
29 12
X 30 7 EM |24
29 64
i = 22— #&Yy |25
AK
13 |43
73 57 AKX |26
5 77
5 7
2 29
12 = 2R |29
27 28
i3 37
: ' EE |31
L 231 47
15137 Ax IS8

=5 EL/NER Aa—h | FF/NFR Ba—H ER/NER Ca—k AXK/NFER DI—k
RGEESE =H & IMNEIR £=5 e E# FRE
EHR hE 1&AA BH M Bl E— NNE BE




6811H(A) (B8+)
=5 iELl Ad—Fk =5 {FF Ba—Fk
10 - 6] 6 — 2]
B 31 g ; 181 33 &L BAE 34 ‘40 - 2 26 EHI
1 | 9:00 s~ g D
FTEFEER|BIE| BR [T.0] =Kb | IE |BI=E]|-BIEHT. O] EH
mEDDED =1 i mEDDED ZH-AFH
4 - 17 3 — 19]
EE 24 g 3 }g 57 R ME 30 123 - 12 66 {FF
2 | 10:00 L8 - 14l L 12 — 1al
e EIE | B [T. O[fiRARE[XE|] WME |[&IE| =81 |T. O[fIRAKSE
a3yiaf— &1 Ak EESED HE--BIE4H
1 - 5] 0 — 4]
S YCHRY 161 3 g 2 =B EE 40 182 - 140 19 BH
3 | 11:00 L 16 - o0l L0 — 1
FTE] WAl | &HE [FEEBD[T. O[finaKE|TE] FT¥ |EIE| Mx |T. OF&RAKE
S &m0 syl af— FREE - =Bl
24 - 1] 8 — 12]
T s2 | 2 T Olo1e am | HE 85| 2 T 2| 51 fniEm
4 |12:00
L 16 - 2] L 11— 15l
TE FR [BIE[ 36 [T O[NAARE|EH] ZMH [ElE] AHF [T O[MHAEKE
S HR-ER SRS BT -
22 - 2] ABE EEEES 2 — 23] B2BE
wmar 57| 12 T 20 9 gEy mE 20| 4 T 121 5 @3
5 | 1300 10 - 8 10 — 13
L6 - 10 L 13— 11
FE[ AR [FE[ ®I [T o[m=aRE(FTE] =a1 [gE| Mx [T O[m#ARE
S o RE SESDED ZEH-7-5I34
A3BE 1 - A1) ALTHE B3BE 9 — 13 BAGE
& 51| 8 7 3 3 s @ 36| & T Al 29 tmiEH
6 | 12:00 22 - 6 6 — 10
12 - 12l L 13 — 2]
F&E| WA |BIE| &6 [T.olmHekE(EE] AH |gIFE| #FHE |T. olsiHeks
EEPE - E L SRS FE-F¥
ASHEE 14 - 7] A2IHE N
War 31 g i} ‘83 32  #E
7 | 15:00 o8 \
IE] AR [BIE[ ZE [1T. O[fA&KE|TE| HES [Tof
a3yl af— =Ko EiT a3yl g)—




6811H(A) (B8+F)
=15 - TF [ CcCa—F S AK Da—Fk
14 — 3] 12 — 6]
DRAEZ = 42 g - g 29 WE | A% 51 ]? - § 27  E4%
1| 900 11— 12l L 10 — 12
Fzx=| 1Ek | 3E | <7+_¢;") T. O] EM [F=E ERE [glE|[ EEHE[T. O] AXK
3y af— =R FE Sy f— Bom e
2 — 33 18 — 3]
B 8 | o _ D77 ok | ®R es |’ — 2l 1 mE
2 |10:00 2 — 8 19 — 4
L2 — gl L7 — 8l
IEREE_[glE| NE [T.OFRaBE|TE AKX |[BIE| BHE [T OFRaKE
a3y g — 1Eff]-AEY Ay — JEAK-INEF
14 — 2] 6 — 3]
BmE 52| 0 — Y| 19 A | 4B os4| Y T 2110 mEEK
3 | 11:00 L 16 — 6. L 13 — 5]
T B | glE| a/kK [T OfisakE| T8 e | &lE| HR |T. O siiakE
aSyoaf— REFE—-WE Sy af— AKX EH
4 — 27 8 — 27]
E@ 14| ) Z 2| 82 aey | mR 3| 0 T | s A%
4 |12:00 _ s — oa R
IE| =k |FE]| FE [T OReBE| T AHGED| BIE]| NE [T. OfRakE
a3yaf— BRH - 5K asySaf— JEAK-TRER
CiE 14 — 9 C2BE NEES 3 — 4] D2EE
BR&ESE = 55 12 - g 26 &Kk | LAk 21 ‘;’ - 141 29 &JE
5 [13:00 2~ 4l s — 1o
e R ENEE] A [T O[FiHERE[TF[NACER] BIE [ AX [T O[MHAEKE
EEDDED =EAHEY a3yl g — AK-INEF
C3BE 14 — 13 CABE D3BE 7 — 8| DAE
mE 37| 2 7 18 e ogey | oy 37| 8 T Al ax
6 | 14:00 10 — 15 11 — 15
11— 20l 13 — 15l
TE| FE |glE]| LM [T ORekE| | AHER)] BlE | LAK [T. O[BREKE
S REE— 5K SRS ZR-1H
— 2 T
\
\
7 |15:00 I
E 2% | [T. O B 2 T. O]
a3y af— J3yyaf—




# FIEMUEI=ZNRTYMI—ILKRE F41ELBEERZRE PPHRFER (XFOER)

—_

N

w

N

(&)

(=2}

~

oo}

©

FER29FEE HFI=NRTYMR—ILKE

I}
SOGA |+

N
N

I} jn)l
= H

=

29

.dd

F

e —

¥

29

16

ﬂﬁkliﬁ

50 28

INET

N
o

25

22

31

!

13

)i

N
—_

2=V A

N
L

c
(s8]
N
N

M

s (B
w13 (= |
S

N
~

N
(&)

19

43

iﬁ
+
7

N
oo}

10 WE | &+ |29
ML BT by [ ' 30
10 10
12 513 54 ' 31
13 24
14| ZEH | A% |33
49 44
3 ik
20
17 2R 4 w RE |36
' 39
18 29 ' 37
19] Rt | — |38
215 WAT/NER Ao—b | BKE/NER Ba—k| B/ ER Ca—h | BE/NFR Da—+
RBEEE rE Ih B —Bf AP E—HB eSS
BH R EH BE mH &a e I Hith E




68118 (A) (&ZF)
=15 RE/NER Ad—Fhk =15 RBE/NER Ba—Fk
6 — 12 11— 2
SOGA 27 g - ‘64 38 ERET YT 36 g - 173 34 BEIL
1| 900 11 — 6. L 12 — 12
e EEZ I EEIE |T o] fm [F=E[ #HEH [FIE[ = [T. 0] KA
a3yvaF— AR - d3yvaF— LY Rid
8 — 11 8 — 7
war 30| & T 19 3 smsm | mEs se| 18 T 100 33 @y
2 | 1000 13 — 4 12 — 15
10 — 6. L 18 — 6
T8 RF B |REE [T olnnakE 28] BL |GE] &M@ [T oliaake
a3y af— £RH-ER asysaf— BHIE-FE
4 — 8 6 — 20]
#5 19| 3 — 8l 4 @R | &msdk 2] O 7 2 &1 @&
3 [11:00 4 — 18 8 — 2
L g — 7 12 — 14l
FE| SOGA [EIE | =nai1 |T.Olnsalka| X8| BaH |glE] Frv [T OfRaks
aSyoaf— REE—_-&ER syl af— ZEM- L
6 — 6| 5 — 2]
aEg= 48| 2 T 2130 mER [ BB o1 5 T 3| 10 T
4 11200 L 14 — 17l L 16 — 3l
EE N TEEIE S |T O[MAEHEFTH] HE [EIE R |T. O[FiHAKE
S BIF-=A asySaf— i ﬁ*%
14 — 47 AlfEE 16 — 4]
mH 32| % T 2| 20 =i HE 42| ' T 2| 17 =z=m
5 |13:00 2 - 2 12 - 6
L 10 — 14l L 13 — 5]
IF]| Z6 [aE] R [T onnekE | Ta(nmeEs) | alE | Bl [T O[NmARE
a3yiaf— AR - H a3yl at— B8 - T
AEE 9 — 1] B2fEE 3 — 19] EREES
WET 36 g - 3‘1‘ 68 | | mEH 29 ‘8} - 130 43 R
6 | 1400 L10 — 22| L 14— 11
TE| AH |BE| BRE [T onRekE| x5 BEF |gI=]| %A |T. OfiiakE
a3yl — SOGA- 5 a3yl g — FEH-HEL
ASTHE 4 — 3] ABE BAEE 14 — 5 EREES
g 24|19 = 2 o wmr | wE 74|20 ~ 2| 13 m=x
7 |15:00 6 — 6 26 — 2
L 4 — gl L 14 — 4]
TE| BBl |EIE]| RBRE [T OnRckE | 28| BRI | 5IE [9RED[T. O[fiRekE
EE e HER-REFE SRS T
AMEE 6 — 17] ACTHE
maEz= 31| 0 — 19 9 ms
8 |16:00 6 — 16 \
: L9 — 29| L
IE| AF | 5I=]| SOGA [T. O[FimalE| L& HEY [T o]
a3y — E£5-=1 a3y af—




6HA11H(R) (&ZF)
215 AP /PNFER Ca—Fk =5 fma /NFER Da—Fk
15 — 0] 8 — 4]
JY—HZ 59 }g - g 22 UMB | BiL 24 g - 147 31 A
1| 900 L 14 — 6] L 10 — 6]
TE] b [gIS[ EEHE[T. o] EF |[FE EXE [EIE] # [1.0] tFF
3y af— ZR-RE Sy af— TEH-Ee
6 — 1T 0 — 15]
m=E 16| 0 — 1 45 ma #w 1| 4 - M o m=
2 |10:00 6 - 5 5 - N
L4 — 1l L2 — 11
TE| AKX |ElE]| UMB |T. O[fisalBa| 28] LaH |8IE] & |T. OmRaKa
O3Sy af— =K Wi asysaf— FE - A5
9 — 12] 4 — 21
BEk 27 j - 140 a1 Rk | BHE 1 g - 180 55 IR
3 [11:00 0 — s 4 — 1
EAELS BIE| ®E [T olmEAKE|EE| AE BlEE| FE& [T o|mEHAKSE
a3y af— JTJ—5X-UMB asySaf— N3
6 — 5| 22 — 0]
mE 16| 2 — M| oa owmm | gms 2| M 7 20 0 @ma
4 | 1200 4 — 16 29 — 0
L4 — 6 L7 — 8]
& /NMEF | gIE | 7V—9R|T. o|miHEKE|XH| EE Bl | LFF [T. o|miEAKSE
EEDDED Ah-RAE a3yl g — AFHE-IBE
13 — 7] CiE 9 — 12]
g 42| 8 T 8 o oy—sxz| mE 5| 2 T 4| 38  a@H
5 |13:00 9 — 6 2 - 14
14 — o L 2 — gl
I8 =E [EIE] NE [T.O[iHalE| T8 BRGER) | glH | AHR [T. O[MRaBEE
a3yiaf— AK-ZR a3yl af— BE-mW
C2IGE 8 — 10| D2fEE 4 — 13] DREES
w30 | 10 = 11| 99 g sz 15| 7 100 4 g
6 | 12:00 1M - 8 0 — 12
L10 — ol Lo — 8l
FE] AKX |lE] BohBA [T. Olsinala| 5| Lad | glE]| A |T. Olsinaks
a3yl f— UMB-fEERE a3yl f— \HE-FE
Cole 22 — 0] CIFE DAEE 12 — 8| DEES
a4l B T T x| dEs e | 2T D Am
7 |15:00 14 = 2 14— 4
L2200 — 4] 23 — 2]
TE[AAGER | BB ]| F&R [T O[aaka| 15| fan | BlE [ERGER][T. O[fiaBE
aSyoaf— e EEOPED ETFF - BHR
CAEE 6 — 13]  CoBF&E \ N
mE 19| 7 bl s mka
8 |16:00 Y \
T=| B | BlE |2)—7X|T. O[fiRaBE | X & BIE | [Tel
a5y aF— G- FE a5yTaT—




6H24H-25H
(5F]

(3BE)
20
12
21
AK
30
43

381 5. aprsnm

BS

BREEZ

46
50
49
73]
22
28

44l 5. ata e

215 WHAEKESR  GRE) | (2B8)
Z4E Fith Eih 3 —
RBEEE NER EH ; - 9
1138
; ik 29
24H |
B1HE  9:30 44 i -
b 2 ! =<5 75
F2iEa 1035 ' 31
EIHA 1140 = -
EARE 1245 ) i -
E5RA  13:50 #EY |
HOoO\T : 1
! k4 —
BeE 1455 ! 41
' [33
| #HEY 12
47 E
25H | =E
! 2Rk
E1E  9:00 ! 17
F1HE 7.8l 22
%255—\:% 10:00 B3 : R* 47
=3xS 11:00 2m[2Z ICHE
mamta 1200 L8 mpm
E£53HE 1500
FE6:E 16:00
[&F]
! A
TOlZ24H : 29
FIRE L EIREDEETF—L 1k Py 13
— e e ! X\
o & LR IERIER & OB ; -
35 !
25H ! BRE TE
BIRHBEERHGOEEF— L L3
FoR B LIEIFHTR S DK E i RH 37
R ;
INEF 55
1 [37
| 1P <l
22 !
| L5 =
7-81ﬁ59&i$c 36
B4 i bk 4= 20
= B
3| 22 |
122 e

B6

s
44|zn =
LT Eﬂ]’_‘“



6H24H (1) NN BN SR

RA | B AT—F Ba—F
7 - 10| 3 - 6
MR s | 0 T Tl #F | & s ) T 8 s zm
1| 930 L 15 - 4] L0 - 5]
I EYH |gIE|] E%H [TTol AH |[FE EH |gIE| EH [T.0| KHE
JSyyaf— S a3y aF— &
10 - 2 3 - 15|
waEgE= o | 8T Sl oasey | 2m o | P T L e ax
2 11035 12 - 4] L2 - 11
I EH [FIE] E% |1 olfxEaus(xs] F8H [FIE] EB [T olfEHAEE
a3y aF— EH a3yiatr— EH
11 - 10| 4 - 9|
A# 20| 2 T e mm | mE 85| o 0| 3 B
3 |11:40 s _ 7 s _ s
T=| 2% |al=] 2% [T onacka 2] 2% |al=] &% [T oniaahz
a3yl a3 — pE 2] a3yl af— b ]
11 - 10| 17 - 8|
IJ\E? 3 - 8 = — 17 - 4
Pooas | 0 D oo 3t AT | dEs osa| ) T 0| 20 mRE
4 |12:45
L6 - 4] L 11 - g
IE] 2% |BlE]| 2% |T.olnaaBa|Tx] 2% |BlE]| 2% |T. olfnaka
a3y — M a3y at— EH
A1BE 15 - 0] B1EE | A2BE 10 - 2 B2 E
#F 38| ¢ D 0| 3 &k | @&y s ) D S 2 2R
5 |13:50 Y s~ 6l
IE] 2% |BlE]| 2% |T.olnnaBa|Tx| 2% |BlE]| &% |T. ofnaka
JSyv3F— EH a3vvat— ]
ASELE 10 - 12 BI3WE | A4BLE 7 - 4] BAWE
A oss | D T e oms | oam o x| LT D oae oma
6 |14:55 L 8 - 5] L8 - 6
6 - 5
TE| EH [fE] E% |1 olnHswEXE] EH [FE] E% [T olnHAsEE
dSyvaF— EH a3viat— ]




6H25H(A) NN ER N
RA | B AT—F Ba—F
2BEHATBEE [ 3 - 5] 2HEB1EE |2BEA2BE [ 8 - 10| 2BEB2BEAE
MR 20| 8 T 0| 2 mm |mazms s ) D T8 ax
1 | 9:00
L 3 - 4 L7 - 11
T % [ElE] % [T.olrersez[EFE] EH [gIE] EH [T. O[28HASH=
JSyyaf— EH JZy>aF— &5
2BHBEASEE [ 19 - 4| 2HEDBSIEE |2HEA4BE | 4 - 8| 2HEB4EE
s 48| o T 10| 49 mE | AFF 2| D | M dEs
2 |10:00
L 15 - 16 L4 - 11
= EH [FIE] EF |7 olaHakE[FE] EF [FIE] EE [1. o[siHakE
a3y aF— B a3yiat— EH
2HEASEE | 9 - 14 2HEBSHE:®E |2HBASKE [ 8 - 3] 2HEHBSHE
FF s | L T D a1 mEy | e 2| D Y| 8 ER
3 |11:00 s _ g Sl
T 28 =] 8% |T.oiackE s8] 2% =] &% [T oliiakE
a3yl a3 — EH a3y a3 — E
2BHBEAGEEE [ 11 - 4| 2HEDBGES®E | 2HEAGEE [ 14 - 8| 2HEBGEE
A% 35| 9 T 3l 2 4w | ®mE os| . J 2 2 ns
4 [12:00
L8 - 11 L 12 - g_
I EH (g8 E%8 [T olnHakE[ETE] EH [FIE] EF [T o[fiEAkE
a3viaF— JER a3yiaF— B
13:20| =L ~ MEE S —
IHEATBE|[ 0 - 16] JHEB BE |3HEATKE | 6 - 14| HEBKE
gm 12| 5 C o 4 Ak | wR 2| 0 T 5| s mams
5 |15:00 : _ g M
I%| 2% || BE [T ohnakErE] 2% |aE]| 28 [T oFinekE
dSyvaF— EH a3yvat— ]
SHBEA2E&E [ 12 - 11| 3HEB2E®E |3HEA2BE [ 10 - 6| SHEB2EE
B 50| 0 _ |8 AkFH | Am 4| 2 T 2| 0 kT
6 |16:00 5 - s A
I%| 2% |gE] B2E [T ohnakErE] 2% |aE] 2% [T oFinekE
a3vyiat— ER a3y at— EH




